

# Addition & Subtraction Families (3)



Name: \_\_\_\_\_

Date: \_\_\_\_\_

- Use the numbers given in the first column to fill in the blanks.

27	36	$9 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + 9 = \underline{\quad}$	$\underline{\quad} - 9 = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 9$
----	----	---	---	---	---

18	23	$5 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + 5 = \underline{\quad}$	$\underline{\quad} - 5 = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 5$
----	----	---	---	---	---

42	48	$6 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + 6 = \underline{\quad}$	$\underline{\quad} - 6 = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 6$
----	----	---	---	---	---

63	65	$2 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + 2 = \underline{\quad}$	$\underline{\quad} - 2 = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 2$
----	----	---	---	---	---

32	39	$\underline{\quad} + 7 = \underline{\quad}$	$7 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 7$	$\underline{\quad} - 7 = \underline{\quad}$
----	----	---	---	---	---

79	82	$\underline{\quad} - \underline{\quad} = 3$	$\underline{\quad} + 3 = \underline{\quad}$	$3 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} - 3 = \underline{\quad}$
----	----	---	---	---	---

57	61	$\underline{\quad} - 4 = \underline{\quad}$	$4 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 4$	$\underline{\quad} + 4 = \underline{\quad}$
----	----	---	---	---	---

85	93	$8 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} - 8 = \underline{\quad}$	$\underline{\quad} + 8 = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 8$
----	----	---	---	---	---

95	96	$\underline{\quad} - \underline{\quad} = 1$	$\underline{\quad} + 1 = \underline{\quad}$	$\underline{\quad} - 1 = \underline{\quad}$	$1 + \underline{\quad} = \underline{\quad}$
----	----	---	---	---	---

14	23	$9 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 9$	$\underline{\quad} + 9 = \underline{\quad}$	$\underline{\quad} - 9 = \underline{\quad}$
----	----	---	---	---	---

35	42	$7 + \underline{\quad} = \underline{\quad}$	$\underline{\quad} + 7 = \underline{\quad}$	$\underline{\quad} - 7 = \underline{\quad}$	$\underline{\quad} - \underline{\quad} = 7$
----	----	---	---	---	---

How did you find this work?

